HH

F52[@ oo

TF RBb—TF Ak

1 | Mgt

A3 12:10
19— 13
50 | & T 68
7 —19
18— 12
A1 9:30 B1 9:30
6 — 14 23— 8
oa | 2T M 46 71 23— 11 41
6 — 10 16— 6
7 — 8 9 —10
P AF = -
; ] = N
— ﬁ £ 3 “l
(E1R) (wm) (RE L) (/)
A1{iL B14{z C14{iz D14z
NEs
34 WIMME R SRR

XA 2D F—LhZEEAZ (ILBEST) ~L

RN Ry R—ILEFERES

SM44E8H78(H)
YamataAh—Y/\—O ERE RABEE

BF RBb—TFTAF

14z BEHM I P FER

A4 13:30
17— 9
53 7= 40
5 —12
14— 2
A2 10:50 B2 10:50
16— 11 15— 13
47 12— 12 48 45 16—15 53
10— 14 5 —17
8 — 9 9 — 8
1 2
=) =} H H
B = il
H 1 = 5
(wm (RE L) (E18) (/)
A1{iL B14iz C14{iz D14z
. | BEmIERER . o g
_ 141 (2Bt E E) 241 | A HERET I A AR
Iz
34 KA EHTER A HERIE_FER

X1 2D F—LhZEEAZ ILBESET) ~L



